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: INSTRUCTIONS TO CANDIDATES :

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET OF THE SAME SERIES ISSUED TO YOU.

2. Please note that it is the candidate’s responsibility to encode and fill in the
Roll Number and Test Booklet Series A, B, C or D carefully using BALL.POINT PEN
(with BLUE OR BLACK INK) and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

3. You have to enter your Roll No. on the Test Booklet
in the Box provided alongside. DO NOT write
anything else on the Test Booklet.

4,  This Test Booklet contains 50 items (questions). Each item (question) comprises four
responses (answers). You have to select the correct response (answer) which you want
to mark (darken) on the Answer Sheet. In case, you feel that there is more than one correct
response (answer), you should mark (darken) the response (answer) which you consider
the best. In any case, choose ONLY ONE respanse (answer) for each item {question).

9. You have to mark (darken) all your responses (answers) ONLY on the separate Answer
Sheet provided, by using BALL POINT PEN (with BLUE OR BLACK INK). See
instructions in the Answer Sheet.

8 (1) Allitems (guestions) carry equal marks. All items (gquestions) are compulsory. Your
total marks will depend only on the number of correct responses (answers) marked
by you in the Answer Sheet.

A1) There will be no negative marking for wrong response (answer).

(iii) If candidates give more than one response (answer), it will be treated as a wrong
response (answer) even if one of the given responses (answers) happens to be
correct.

7. Before you proceed to mark {darken) in the Answer Sheet the responses (answers) to
various items (questions) in the Test Booklet, you have to fill in some particulars in the
Answer Sheet as per the instructions in your Admission Certificate.

8. After you have completed filling in all your responses (answers) on the Answer Sheet and
after conclusion of the examination, you should hand over to the Invigilator the Answer

~ Sheet. You are permitted to take with you the candidate’s copy/second page of the Answer
Sheet along with the Tesf Booklet. after completion of the examination, for your reference,

9. Sheets for rough work are appended in the Test Booklet at the end.
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e X =
1. The formula x=a + h|_2f’—} i - )

used to ﬁetermine :
(A) Mean

(B) Mﬁde

(C) Median

(D) Al of the above

| YAk &

2. Find the mode of the data :
Marks No. of Students
0-10 3
10-20 12
20-30 32
30— 40 20
40 - 50 6
(A) 2425
(B) 25.25
(C) 26.25
(D) 27.25
VL-3B/15 (2)

Which of the following cannot be the

probability of an event 7
2

(A) 3

(B) —-1.5

(C) 15%

(D) 0.7

For an event if 'p’ be the probability
of the happening of the event and ‘g’

be the probability of not happening

the event, then which one ﬁf the

following is true ?

(A) pis always greater than g

(B) p+g=1

(C) pis always less than g

(D) p+q=0

When a die is thrown, the probability

of getting an odd number less than -

Brisi
Ay =

(B} 3

Contd.
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21.

(©)

115
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The highest power of the variable in
a polynomial is called its :

(A)  Solution
(B) Zero

Degree

(D) None of the above

If ce and f are zeroes of a quadratic
polynomial ax® + bx + ¢, then o + B
Is equal to .
b
A 3
8]
B) -~

(C)

o

O . -¢

VL-3Bf15

22,

23.

24,

If a zero of the quadratic polynomial
x° + 3x + k is 2, then the value of k
is

(A) 5

(B)
(C)

-2
10

(D) =10

If o, P and y are the zeroes of a cubic
polynomial ax° + bx® + cx + d, then

apy is equal to :

b
A -
d
® -z
g
@ 3o
d
0 =

If one of the zeroes of the cubic
polynomial x* + ax® + bx + ¢ is —1,
then the product of the other two
Zeroesis :

(A) a-b+1

Contd.



(B) @=b—1 27. If o and P are the zeroes of a

(C) b-a+1 ' quadratic polynomial X% + x — 2 then
D) b—a-=1 ‘4
the value of [ﬂ A ﬁ] IS .
25. If one of the zerces of the quadratic :
polynomial (k — 1) X2 + kx + 1 is =3, 595 Wity
(A) 5 or 3
then the value of k is
2 g or =
A 3 (B) 5975
e c 2 op
8 = ©) 395
L= B} 5o
{'m 4 28 The system of linear equations
3
kx+y+1=0andx+ky+2=0has
26. If an n'" degree polynomial is unique solution if :
divided by a m™" degree polynomial, ) ks d
then the possible degicc of the (B) k=1
quotient is : ) k=l
(D) None of the above
(A) m-n
28. Which of the following will have no
(B} m+n
solution 7
(C) mn
(AY A system of consistent
(D) n-m

equations

VL - 3B/H15 (7) ( Turn over )







35. Forwhatvalue of n are the n'" terms (B) ~ Area of the square is less than
of two A. P's 83, 65, 67, .... and 3, the area of the circle

%
10,17, ......equal ; (€) Area of the square is more

(A)y 1 than the area of the circle
| 12 (D) None of the above
(C) 13
38 A steel wire is in the form of a
(D) 14

circle of radius 28 cm. It is bent

36, Inan A P, the first term is 22, in the form of a square. The length

th - :
n" term is- =11 and sum of firs
= ; Ly of the side of the square is :

n terms is 66. Then the common

[takean]
_ s

differencedis :
(Ay =1

- (A 44cm
(B) -2

(B) 11ecm
(C) =3

(C) 28cm
(D} -4

(D) None of the above

37. A steel wire is | form of ‘ ;
¥ sieel Wi 18 0 e o0 e 39. The perimeter of semi-circle of

square. The same wire Is bent in the cadius r unitis :

form of a circle. Which of the (A) mre

following is correct 7 (B) mr+2r

(A) Area of the square = Area of (C) 2mr+r
the circle (D) 2nr+2r

VL - 3BM5 (9)






(C) A frustum of a cone and a

hemisphere

(D} A cylinder and a hemisphere

45, Ina circular cone, the cross-section
made by a plane parallel to the base
isa:

{A) Frustum of a cone
(B) Sphere
(Cy Circle
(D) Hemisphere
46. The length of the side of largest cube

that can be inscribed in a sphere of

diameter 'd' is :

(&) 3d

47. How many spherical lead shots each

having diameter 3 cm can be made

VL-3B/15 (11)

48.

from a cuboidal solid of dimensions

9ecmx1lemx12em ?

"

[take T = %J

(A) 81

(B) 82
(C) 83

(D) &4

If the mean of the distribution is

2. 6thenthe valueofpis:

X f
1 4
2 5
3 8
4 p
7 2

(A) 1

(B) 3

(C) 7

D) 6

( Turn over )







